
!"#$%&"'()*+,-./$0)*11!

2345)6"'$47$)4$#()"45)(80()

!"#$%&'(")*+$

"#$%&'#()!*%+#&$,%-$.!#-/!
*%+#&$,%-$!01!23%,')$&4!#-/!5'063%,')$&4!
"#$%&'#()!7%)%#&63!8#90&#$0&4!
:-';%&)'$4!01!2#('10&-'#.!<#-$#!5#&9#&#!2=!>?@AB!
3$$+CDDEEEF,&(FG6)9F%/GDH)%)3#/&'!!III!!)%)3#/&'J,&(FG6)9F%/G!



!"#$%&"'()*+,-./$0)*11!

2345)6"'$47$)4$#()"45)(80()

9"8'&4:;()($7345)%8'$)<$'$7#%3(#"#&7)6"'$47$)%8'$=>)

?/$)$'$7#%3(#"#&7)@345)6"'$47$)3A)")7"#&34)3A)7/"%:$)))))))"45)733%5&4"#&34)
<480@$%)3A)"4&34)4$&:/@3%(=)))))))&():&6$4)@B>)

C3%)#/$)"4&34D)(&0&'"%'BD)#/$)$'$7#%3(#"#&7)@345)6"'$47$)&(>)))

?/$)%8'$)(#"#$()#/"#)#/$)(80)3A)#/$)6"'$47$)3A)#/$)7"#&34)08(#)$E8"')#/$)
(80)3A)#/$)6"'$47$)3A)#/$)"4&34)<4$:'$7#&4:)(&:4(=>)

s+ = V+/Z+

V+

Z+

s− = V−/Z−

∑
|s−| =

∑
|s+|



!"#$%&"'()*+,-./$0)*11!

2345)6"'$47$)4$#()"45)(80()

Ti 
O 

O Ca 
F 

F 
Th 

O 

O 

s+ = +4/8 = +1/2
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